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0 < x <2 eSS 13) ccosy sinx = 3cosx dslaadl > (1A

0<f< T -5 4sin 0+ 4cos? 0 — 8 sin Hcos O = OZJ;L..«J\J; (1B
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cos’0+2cosf+1=0;0<60<360° (1

2cos?0+cosf=1;0"<60<360° (2
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2cos?6=1 (6 4sin26—-1=0 (5
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0° < 0 < 360° 3\S 13] sin @ =1+ cos 0 :Usleadl |>

aulo ¥ Alslaslt sinf =1+ cos 6
o sin® @ = (1 + cos 0)?
sin? @ =1 — cos” 0 1—cos?6 =1+42cos 8+ cos? 8
(o lad! ST COSZ 0 Ealinly ((psd ad! (pa 1 7yl 0 =2cos 0+ 2cos?6
S 0 =2cos (1 + cos )
$riuall oyl anols 2€OS @ =0 s 14cosh =0
cos § =0 S cos 6 = —1
0 =90°, 270° S 6 = 180°
sin® =1+ cos 6 sin® =1+ cos 6 + Gdondlt
sin 90° = 1 + cos 90° sin 180° =1 + cos 180°
1=1+40 0=1+(-1)
1=1V 0=0V

sinf =14 cos
sin 270° = 1 + cos 270°
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cos’2f+3=4—sin’6 (4
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0 = 60° + 180°k

0 = 120° + 180°k
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cot 0

sin @ cot O — cos? 0 =0 (5A
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cos? 6 = %; 0° < 6<360° (17
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